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Equations /Constants to know for AP Chem MC Test

Ideal Gas Equation    
or
  or
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Finding Partial Pressure from Total Pressure in a mixture of gases    
Collection of Gas above water   PT = Pgas + PH2O      ∴  Pgas = PT – PH2O [image: image6.wmf]2
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Kinetic Energy  




urms  = root-mean-square speed
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m = mass of gas particle(NOTE: in kg)
k = Boltzmann’s constant, 1.38 x 10-23 J/K
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M = molar mass (kg/mol)
 R = ideal gas law constant, 8.31 J/mol·K
Rates of Effusion  
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Delta H:  
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Rate Laws 
Rate related to stoichiometry of the rxn    aA + bB → cC 
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Zero Order  
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First Order 
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Second Order 

Know reaction mechanisms (how to identify correct rxn mechanism for a given rxn)

Equilibrium

B (>A, K= 1/K(ref), 2A (> 2B , K= K(ref)2,     A (> C C (> B , K (overall)= K1 X K2
Writing Ksp Expression

Ex. Pb3(AsO4)2 (s) ↔ 3 Pb+2 (aq) + 2 AsO4-3 (aq)

Ksp = [Pb2+]3[AsO4-3]2
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Electrochemical cells and quantitative calculation


Make sure to put time in seconds
Example of Mass calculation using F
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Acids/ Bases
pH = -log [H+] = -log [H3O+]
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or [H+] = 10-pH


, Ka = acid-dissociation constant in water
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Weak acids generally have Ka < 10-3

Mass Percent: Mass of one element or component/total mass x 100 (go over mass percent of hydrates)
Bond Enthalpy:   (Hrxn ≈ ( (Hbonds broken) - ( (Hbonds formed)
M, m and X

Molarity (M) =
moles solute

=
mol


volume of solution

  L
Molality (m) =
moles solute

=
mol


kg of solvent


 kg

Dilution:  
(Minitial)(Vinitial) = (Mfinal)(Vfinal)
Mole Fraction: Moles of one component/total moles (is always less than 1)
Titration: At equivalence pt moles of H+= moles of OH-

Nernst Equation (Asked only once, but had quite  a few questions on it!): Only do if you have time!
Nfe

	Series
	Transition down to (emitted)
or up from (absorbed)…
	Type of EMR

	Lyman
	1
	UV

	Balmer
	2
	Visible

	Paschen
	3
	IR

	Brackett
	4
	Far IR


 Electron Transitions:
[image: image1.png]
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